
Homework10_sol 

 

1. Evaluate the iterated integral. 

(a) ∫ ∫
4

𝑥2+𝑦2 ⅆ𝑥
𝑦

0

ⅆ𝑦

3

1

 

(b) ∫ ∫
1

ln 𝑦
ⅆ𝑦

10

ⅇ𝑥
ⅆ𝑥

ln 10

0

 

 

2. Evaluate the double integral. 

 

 ∫ ∫ 𝑥2 ⅆ𝑥
√4𝑦−𝑦2

0

ⅆ𝑦

4

0

 

Sol: 

1.(a) 

∫  
3

1

∫  
𝑦

0

4

𝑥2 + 𝑦2
ⅆ𝑥ⅆ𝑦 = ∫  

3

1

[
4

𝑦
arctan (

𝑥

𝑦
)]

0

𝑦

ⅆ𝑦

= ∫  
3

1

4

𝑦
(

𝜋

4
) ⅆ𝑦

= ∫  
3

1

𝜋

4
ⅆ𝑦

= [𝜋ln 𝑦]1
3

= 𝜋ln 3

 

 

(b) 

∫  
ln(10)

0

∫  
10

ⅇ𝑥

1

ln 𝑦
ⅆ𝑦ⅆ𝑥 = ∫  

10

1

∫  
ln 𝑦

0

1

ln 𝑦
ⅆ𝑥ⅆ𝑦

= ∫  
10

1

[
𝑥

ln 𝑦
]

0

ln 𝑦

ⅆ𝑦

= ∫  
10

1

ⅆ𝑦

= [𝑦]1
10

= 9

 

2. 

 



令 
𝑦−2

2
= sin 𝜃 

1

2
ⅆ𝑦 = cos 𝜃 ⅆ𝜃 

 

∫ ∫ 𝑥2 ⅆ𝑥
√4𝑦−𝑦2

0

ⅆ𝑦

4

0

= ∫
1

3
(4𝑦 − 𝑦2)

3
2 ⅆ𝑦

4

0

 

=
1

3
∫ [4 − (𝑦 − 2)2]

3
2 ⅆ𝑦

4

0

 

=
1

3
∫ 16 cos4 𝜃 ⅆ𝜃

𝜋
2

−
𝜋
2

 

=
16

3
×

3𝜋

8
 

= 2𝜋 

 

 

 

 

 


